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Geometry: Open Response




ALL work must be done on the grid below.

1. In the figure below Runways A and B are parallel to each other and perpendicular to Runway C. 
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a. If Runway D makes a 25° angle with Runway B as shown in the diagram, what is the measure of the angle marked in the diagram between Runways C and D?

b. On the airport map the intersection of Runway C and Runway D occurs at (1000 ft., 3000 ft.) and the intersection of Runway A and Runway D occurs at (4000 ft., 6330 ft.).  The Boeing 747 airplane needs 9000 feet of runway to land safely.  Can the Boeing 747 land on Runway D safely?  
Show algebraically why or why not.
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